Nodal Protocol Revision Request


	NPRR Number
	414
	NPRR Title
	UFE Calculation Clarifications

	Date Posted
	September 12, 2011

	
	

	Requested Resolution 
	Normal 

	Nodal Protocol Section(s) Requiring Revision 


	2.1, Definitions 

11.4.6, Unaccounted for Energy Calculation and Allocation

11.4.6.1, Calculation

	Revision Description
	This Nodal Protocol Revision Request (NPRR) clarifies language in the Unaccounted for Energy (UFE) calculation.

	Reason for Revision
	This NPRR will provide clarification in the Protocols in regards to the utilization of Direct Current Tie (DC Tie) Schedules in the UFE calculations and remove “metered” from the UFE definition since non-metered Loads are also included in the UFE calculation.

	Credit Implications 


	To be determined. 


	Business Case


	Business Case
	1
	Provide clarity in Protocols.

	
	2
	No changes to existing ERCOT practices or systems.

	
	3
	

	
	4
	   

	
	5
	


	Sponsor

	Name
	Don Tucker

	E-mail Address
	dtucker@ercot.com

	Company
	ERCOT

	Phone Number
	512-248-3913

	Cell Number
	512-560-2378

	Market Segment
	Not applicable.


	Market Rules Staff Contact

	Name
	 Sonja B. Mingo 

	E-Mail Address
	smingo@ercot.com

	Phone Number
	512-248-6463


	Proposed Protocol Language Revision


1.1 DEFINITIONS

Unaccounted for Energy (UFE)

The difference between total Load for each Settlement Interval, adjusted for applicable Distribution Losses and Transmission Losses, and total ERCOT generation.

11.4.6
Unaccounted for Energy Calculation and Allocation

The DAS shall adjust the net loss adjusted Load for each aggregated group for UFE.  The Data Aggregation process will calculate the difference between net loss adjusted Load for the entire ERCOT System, which has been adjusted for Distribution Losses and Transmission Losses, and the total system Load (generation) in order to determine the total UFE.  The calculated UFE for each Settlement Interval is then allocated to Loads.  Scheduled flow out of ERCOT on a Direct Current Tie (DC Tie) will be deemed as Load, and scheduled flow into ERCOT on a DC Tie will be deemed as a Resource.

11.4.6.1
Calculation of ERCOT-Wide Unaccounted For Energy

The DAS will calculate ERCOT-wide UFE as the difference between the total ERCOT generation and the total Load, adjusted for losses in ERCOT during each Settlement Interval.  UFE may be positive or negative in any single Settlement Interval.

UFE i (MWh)
= ERCOT Generation i Total – ERCOT Net Loss Adjusted Load i Total
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